EARAZROREIERT — 2 N— XBISY —F 2019511 H128 (K) 13EAFH2H

VLR AW ARE B2AB3E H7%—#K \ (x4l W \ (Eamm] — | & (%) 12000 TRE
[A&4£] 1 7% :2,700,000 @ 23 :1,080,000 @ 3 3 :675,000 @ 4 3% :405,000 @ ~ 5 7% :270,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N HTHE R 13, - . — LS (KHF)
ilsl7|=naxry i3 RS 1(1_3)8 9-10 | 37.9 1 (4+713) ;m;g?f
L:Aa—LiFL4a B:w3asovqs KIFES
T tr 6 | BHE 1:13.8 6-5 82| — 9 486 | SAREZ (KH)
olglglEL/TTT71— 7] %56.0 ("% © |HEES
L:7RYL Y L—> B:XRA—FFAR b IS
S 4t 5 | FEARA 1:14.2 7-7 38.6| — 11 517 | EEEIES (KH)
3011 |RAV=TA4—I R 57.0 @ a7y | _UB) TS
R:jr—3)7> B:TUVIXTF1> AL
. 5 | HEIATHE 1:14.2 8-8 38.5| — 8 498 | =IRBEHE (/ViF)
alglia| BT PLa G Tt 1) | OB X557 Tk
R:Zv—b77)a> B:OCYILY2TU— B IRENS
. 5 . - _ 1
Ja—7I/N kAR # 5 éi%fi;iﬁﬂé 1(.11/42.)3 34 |38.9 10 | 515 ﬂ!ﬁgﬁé (k3#)
LYIRT TSR B U= T @0 1ya-55 -4
S = st 1:14. 1-1 . - 451 | A= (KH)
RFETFXZ i 0 57.0 (3/4)5 0 |36 6 (_53) fha A=
R:TLCFFE1T1 BHYZ—FIHLF— (B) #AEI-FKL—Ya>AET7
FLY—RTYLY f 5 | BEX (171;75) 22 394 — | 2 4526 lﬁﬁ? (IN#F)
RFrU—v59> B:FrU-—/IACEL 2| Xms
. — SR : - — E
SRR T4 R o7 57?3 B 1.(114).7 10-9 [38.8 12 (53 ég%gz (K3)
R:Fa5> 40 B ZMA—F7TUYZ DPZ UL ¢ ]
s N . FEEZE 4. - . — BRE (KH)
x> —=N=F o4 ¥¢54.0 1(/7145)7 fa14 | %83 ¢ gg STECOBL—ER
R:YZRZ—=3I=2%— B:o—TI— = IE—
= N BEE 114, — . — BRE (KH)
AV S s SO0 (17'1;77) R " (‘ﬁ: ]
RNAE BV XTETX—T FUIL S
ey KA :, Ho4 | EEAHIE 1:14.9 5-3 9.5 — 4 | 517 |RERK (1)
1813 Fv FTL1Z 57.0 (1 1/4) ) NI B
L:Z2%— k770> B:hzxyavx or TEEHS
s o s o4 | HINE 1:14.9 12-12  [38.8| — 5 460 | SEILBSE ()VviE)
Eam T4 TIE 55.0 (74%) (+13) | A
R:xALZG7—X BT ag LN PEENE ¢
= # 3 | AHEEE 1:15.0 4-6 39.6| — 7 426 | FBAME (k)
13[7|12| ¥ — 21 3.0 (1/9) Gy | HEBT
RAZXHA=ZY A BATIU—HT—X eI ¢
5= o o JI| SIEAER :15. - . = IfRELE (kR
14 2 | FZXITRART—Ib i 9 55.0 éﬁg - 04 1 g ﬁm;
LIZART—LYF— BEILTOR-Z PIRIH 5
® 1 —F—@EBIERL
13—=7-—
2a=5=
Ja=9= 2,11,3,12,13,8,1,14,7,6,4,10,9,5
43—4+— |2,11,13,3,8,12,1,14,6, (4,7),10,9,5
[ N5
B 7 350M 714K 7-8 870MH B 5-5 2,570 JEE 1-7-8 15,440H
B B 7 1604 1-7 1,920H e B G0 2,590 3B 7-8-1 51,880
8 510M 1-8 5,790 B & 7-8 2,590
1 620/ B E 7-8 3,710

ARICOVWTRDTEEERROODE. TR LI,



